One Time Recordkeeping Burden for Part 73					
Section	No. of Respondents	Responses per Respondent		Burden Hours per Response	
73.77	65	1	65	374	24,310.00
TOTAL			65		24,310.00
ANNUALIZED TOTAL			21.67		8103.33

Annual Reporting for Part 73					
Section	No. of Respondents	Responses per Respondent	Number of Responses	Burden Hours per Response	Total Annual Burden Hours
73.77(a)(1)	65	0.47	30.7	1	30.7
73.77(a)(2)	65	0.94	61.4	0.5	30.7
73.77(a)(3)	65	2.38	154.5	0.5	77.25
73.77(e)(1)-(4)	Burden covered under sections 73.77(a), (b), and (c)				
73.77(e)(5)	Burden covered under sections 73.77(a), (b), and (c)				l (c)
TOTAL			246.6		138.65

Annual Recordkeeping Burden for Part 73				
Section	No. of Recordkeepers	Burden Hours per Recordkeeper	Total Burden Hours	
73.77(d)	65	4.77	310.00	
TOTAL			310.00	

Annual Reporting Burden for NRC Form 366					
Section	No. of Respondents	Responses per Respondent	Number of Responses	Burden Hours per Response	Total Annual Burden Hours
73.77(d)	65	1.42	92.10	64	5894.40
TOTAL			92.10		5894.40

Annual Recordkeeping Burden for NRC Form 366					
Section	No. of Respondents	Responses per Respondent	Number of Responses	Burden Hours per Recordkeeper	Total Burden Hours
73.77(d)(12)	65	1.42	92.10	16	1473.6
TOTAL					1473.6

Total Burden for Part 73					
Responses Hours Cost @\$279/hr					
One-Time Recordkeeping	21.67	8103.33	\$2,260,830		
Annual Reporting	246.6	138.65	\$38,683		
Annual Recordkeeping	65	310.00	\$86,490		
TOTAL	311.60	8551.98	\$2,386,003		

(all one-time recordkeepers are also annual recordkeepers, therefore, the 65 recordkeepers are each only c

Total Burden for NRC Form 366						
	Responses Hours Cost @\$279/hr					
Annual Reporting	92.10	5894.40	\$1,644,538			
Annual Recordkeeping	65	1473.6	\$411,134			
TOTAL	157.10	7368.00	\$2,055,672			

Total Burden for Cyber Event Notification Final Rule						
	Responses Hours Cost @\$279/hr					
Reporting	338.70	6033.05	\$1,683,221			
Recordkeeping (One-time and						
Annual)	65.00	9886.93	\$2,758,454			
TOTAL	403.70	15919.98	\$4,441,675			

BURDEN PER RESPONSE	39.4	351828915862
TOTAL OTHER COST	\$	1,103.38
OTHER COSTS FORM 366	\$	164.45
OTHER COSTS 10 CFR PART 73	3	938.928

counted once)

NRC Action	Annualized Burden Hours	Cost at \$279/hr
One-Time Implementation Activities		
Develop final rule and regulatory guide	458	\$127,782
Subtotal	458	\$127,782
Annual Activities	-	
Respond to telephonic notifications made under sections 73.77(a)(1), (a)(2), and (a)(3)	1,233	\$344,007
Review written follow-up reports submitted under section 73.77(d)	185	\$51,615
Subtotal	1,418	\$395,622
Total	1,876	\$523,404